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Mark Guidelines Explanatory Notes

The mark guidelines have been devised by a team of experienced examiners. They have
tried to anticipate all possible responses worthy of credit. In order to establish consistency
it is essential that all centres mark exactly to this scheme.

For ease of use the mark guidelines has been presented in tabular form. Concise answers
are given in the left-hand column. More detailed explanatory notes for some questions are
included in the right-hand column.

Marking of Stage 1 of the ISA – student data and graph – should ideally be completed
before the ISA written test to ensure that candidates do not change any data. (Alternatively
centres would have to take other steps to ensure that candidates did not change any
information on their data script/graph). The marking of this section should be annotated
with a red tick at the point where the mark has been awarded together with the letter
referring to this mark from the mark scheme, e.g. ‘[b’. No other comments or feedback
should be written on the candidates’ script. The total mark for this section should be
written at the top of the paper. This will be transferred to the grid on the front page of the
ISA test booklet.

Marking of the ISA test should be done using a red tick to represent each mark awarded.
Further annotated comments can be added where necessary as an explanation as to why
a particular point has been awarded which will greatly aid the moderation process. The
total marks for each question should be entered on the grid on the front cover of the ISA
booklet and the total mark calculated.

There will be further guidance and information about the marking guidelines will be given at
the teacher support meetings which will be held in the later half of autumn 2009.
Assessment advisors are also allocated to each centre and they can also advise on the
marking process.
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